Cognitive Demand: Algebra 1 Curriculum
Goal: Devise some specific ways of talking about the cognitive demand of a task, and connect it to the purpose of students doing a task. Include the idea that tasks can provide opportunities for meaningful mathematical discourse and productive struggle. 

Individually, then discuss in your PLC: What do we mean when we talk about the ‘cognitive demand’ of a task? Jot down a few ideas you look for when looking at the cognitive demand of a task.

Sort tasks from lowest to highest cognitive demand, and while you discuss them, write down the characteristics you use to discuss the cognitive demand of a task. 

Low cognitive demand:



High cognitive demand:




Discussion of higher demand tasks:
· In what ways do the tasks you identified as higher level support coherent and focused learning, helping students make connections between concepts and procedures?
· [bookmark: _GoBack]In what ways can the tasks provide opportunities for meaningful mathematical discourse? Specifically, what aspects of each higher-level task is problematic for students mathematically?
· What opportunities are there for students to engage in and reflect on their use of the SMP?









Task A (from Engage NY Algebra 1)
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Task B (from Engage NY Algebra 1)
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Task C (from Engage NY Algebra 1)
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Task D (from Engage NY Algebra 1)

[image: ]


Task E (from Kuta Software – Infinite Algebra 1)
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Task F (from Engage NY Algebra 1)
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Task G (from Engage NY Algebra 1)
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Task H

Solve the equation  for x.




Task I

Write four exponential expressions, one for each of the following criteria. All the expressions should simplify to . 
a. Written as a product
b. Written as a sum
c. Written as a difference
d. Written as a quotient















Task J






You study buddy was solving the following equation: . He first set each factor equal to 1, justifying that 1 times 1 is 1, then solved for x in each equation:  or , so  or . Is your study buddy right or wrong? Explain, using a mathematical justification.
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4. A ramp s made in the shape of a igh triangle using the dimensions described in the picture below. The ramp.
engihis 10 feet from th topof the amp o the botom, and the haizonalwidth of the amp is .25 feet.
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ABallsreleased at the top of the amp and takes L seconds o 1ol from th top of the ramp to th bottom.Find.
‘eachansuer below o the narest 0.1 fee/sec.

anwe

Findthe average speed of the bal over the 16 seconds.
Find theaverage ateof hoizontlchange of the balovr the 1. seconds.
Find theaverage ate ofvrticlchange of the bal over the 1.5 seconds

Whatreltionship do you think holdsfor the values ofth three average spee you ound in parts o) (3, 3nd
P bin:use the ythagorean Theorem.)
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2. The parking lot at Gene Simon’s Donut Palace is going to be enlarged, so that there will be an additional 30 t. of
parking space in the front and 30 t. on the side of the lot. Write an expression in terms of x that can be used to
represent the area of the new parking lot.
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Solve each equation.

1) —20=—4x—6x 2) 6=1-2n+5

3) 8x—2=-9+7x 4) a+5=-5a+5

5) 4m—4=4m 6) p—1=5p+3p-8
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7. Decide how foabel thevertical ais so tht you can graph the data set onthe axs below.

drawa curve through the data points.
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‘Graph the data setand




image7.png
5. The folowinggraph shows the revenue (orincome)  company makes from designer coffee mugs and the ot cost
(incuding overhead, mantenance of machines, ec) hat the company spends o make th cofee mug.
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Units roduced and Sold

ow arerevenue snd ot cost rlstd  th number of it of cffee mugs produced?
Whats the meanin o the pin (0, 2000)onthe total costne?

Whatar the coordinate of thetersection pint? What i the meaning of s poit i s stuation?
Creste inear quations forrevenue and total costintems of units produced and sold. Very the coordinates
of th ntrsection point.

proitforseling 1000 unis s equsl o revenu generated by slin 2000 units minus thetoal cotof making
1000 units. What i he company's proft i 1000 units are produced and sod?
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x − 5=1
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x + 2 =1
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